Module 7 Guideline Lesson 2

Patient was brought into the ER for injuries. She had been crossing at
the crosswalk when a car ran a red light. She was hit in the abdomen
by the side mirror and the tire ran over her right foot. Which transport
accident definition will describe our patient? (Read all definitions in
Chapter 20 of the coding manual.)
. (e) pedestrian

Correct

- (f) driver
(g) passenger

2 (h) person on the outside

Upon exam, the patient has a contusion of the abdomen and a crush
injury to the right foot. The patient was taken to surgery for bone
reconstruction in the foot. According to guidelines learned, what is the
proper sequence for this initial encounter?

. 597.81XA, V03.90XA, S30.1XXD
. S97.81XA, S30.1XXA, VO03.90XA

Correct
Guideline I.C.19.b indicates the most serious injury is sequenced first.

S30.1XXA, 597.81XD, V03.90XD
S30.1XXA, S97.81XA, VO03.90XA

»

»

What additional external cause code could be applied if the patient was
on their cell phone watching TikTok at the time of the accident? (HINT:
review the information and notations found prior to the transport

definitions in Chapter 20)
Correct answer 1 - Y93.C2
Incorrect
The "use additional” code notation with the transport accident
definitions provides guidance for use of cell phones at the time of the
accident.

Liam was riding his motorcycle in excess of the speed limit when he
lost control on a road striking a road sign. He was seen in the ED
however, no injuries were sustained. Select and or all external cause
code(s) submitted for the encounter. (Review in the external cause

index.)
(check all that apply)

" contact with, object (blunt) NEC



